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COMPUTER SCIENCE
COMPUTER APPLICATION
INFORMATION TECHNOLOGY
(Honours ‘Generic/Regular Core)

: For Honours Generic . |
Answer the Questions from any one Option.

OPTION-A
( Programming. in C++)
Paper : CSC-HG-2016
~ OPTION-B .
( Database Management System )
.Paper : CSC-R€-2016 / CSC—HG—2026.
' OPTION-C" .
( Introduction to Programming in C )
- Paper : CSC-HG-2036 / TCA-HG / RC-2016 / TI’I‘-RC—2016
' _ Full Marks : 60 '
* - Time.: Three hours '
_ The figures in the margin indicate
Sull marks for the questions.
Answer either in English or in Assamese:.
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OPTION A '
( Programming in C++) .
Paper CSC-HG-2016

1 Answer the follow_mg questlons- P ,.1?‘7=7

' (a) State True or False :
“CH+ supports multxple .inheritence..

", C++ @ multiple i_nheritencé ™MW IR
) - isa user defined type that -
contain data members and .member
functions.

(5! user defined type & data
members Hi¥ member functxons @R?F
R T

(c) State True_ or False :
. In C++, a reference variable is a
pointer to a memory location..

Fey 1 opey foval ¢

C++ 6, reference vanable () memol'Y

location & Bl pointer ¥ &R
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_ (d) " State True or False :
' In -C+.+', ++ operator ¢an only be used

in intéger and ﬂoating-'poimgelj number.

ey m Wf%wt
C++ ', ++ operator. (Bl O integer B

floating point TRIIF (520 W W .

() What is L-value and R-value of an'-.
: expressmn? ' :
BRG] express1on 3 L—value Wﬁi R—value
. e Be S -
() What is the use of construgtor inC++?
- C++ '® constructor I IR Be v" '

(g) State True or False : '
In function overloadmg same function
 hame . .can be used _in. multiple
functions, if parameter are different.
Function overloading © (3%l function
name (¥ (201 @ function © BRI MR
M paraméter QIR @?ﬁﬂ REA ™
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2. Answer the following questions :  2x4=8
(@) What is the difference between a class A
and an object in- C++?

) tﬂﬁ class WW o1 object g W sty 2

(b) _What is the use of new .and delete
operators ?

‘new i< ‘delete operator I W ﬁs? '

. (c) What is variable ? Define the scope of B

a variable. _
Variable St & i@? Variable ¥ scope I
bl ﬁtnl

() What is inline function ?
Inline function W= & &2

3. Answer any three - questions from’ the

followmg '5x3=15

B ﬁ@wfﬁﬁrmwm

(@) Write the difference between call by
. value and call by reference. '

call by value 9% call by reference § -

Wvﬂﬁl’zﬁm{qﬁm.

3 (Sem-2/CBCS) CSC HG 1/2/3,RC/G 4



()

)

Explain the concept of static. and
dynamic memory allocation in’ C++.
Static W% dynamic memory allocat1on

a&ﬁmaﬁaw

What is the . difference loetWeen-‘

‘function prototype and function

. definition in - C++?’ Explain with- "

(@)

e

suitable example

C++ © functlon prototype 9% function

definition-4 W&q “FH! ﬁS? W"‘i’i‘i

[T FA L

What is frlend functlon ? Wnte a C++
program to demonstrate the use of
friend functlon in a class.

Friend function' ¥ & @? Friend -
functlon-ﬁ JRR  (TRIRCHA u‘lfﬂ C++ -3
program it |
What is’ “polymorphism in C#++?
Explain - different type's "~ of

'polymorphlsm in C++,

'.Polymorphlsm SITGI & i@ﬂ? C++ ¥ ﬁ'ﬁ:’
polymomhlsm RY JRGE [
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4.

@

Answer any three questxons ‘from the

L m

{9

(@)

. following : . 10x3=30
©oT Rigeteat fofit T
(a) What is the difference ‘between" a

constant pointer and pointer to
constant .in C++? Explain with
suitable example.

C++ © ¢l constant pomter i pomter
to constant-3 W& mzhﬂz%t e me:.
I A | |

What is filestream in C++? Explain

different types of filestream. Write a .
C++ program to read data from a file.
C++ © filestream Wit & 3o ¢ [{ifow [ -
filestream 2T 399! 91| 9B file-9 data

TR read FW AR C++ U] nﬂﬁ program -

e .
Write a C++ progi‘am to display the .
factorial of a nur'nber using recursion.
Recursion IR FR tﬂ‘fﬂ RYF factorial
ClemRte C++ © €6l program ferat |

What is inheritence ? Explain about
different types of inheritence with -

, suitable example
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(e)

Inheritence W . e AR W -

inheritence '715[{ ORIZIR Y [

What are structure and union ? Write h |
a C++ program to show the use of

"array of structure. What is the
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d1fference between break and continue
statement ?

Structure ¥I% union M ﬁs‘{\"ﬂ? Array.
 of structure (TR C++ © <6t program |
{1 Break W continue statement-? o

mm.

Create a class called ‘rectangle which

has three data members Jength’,’
breadth’ and ‘area’ of the rectangle. ©
. Write a public member function getData o
() to. take the initial values of length’
~ and ‘breadth’. Another public member
function getArea () will calculate the
‘area of the rectangle and display () will

display all the information. Note- that
area is calculated as length * breadth.

»

Pl |



—

-‘rectangle’ AN cﬂ"BT class @RI, TS
length’, ‘breadth’ WIS ‘area’ Wvm G
" data member AT | getData () RLA @Bt

' public member function frat length’

SI¥ ‘breadth’ value B! input Rpicst

e’ | getArea () N9 B public memiber

function &t Ribim rectangle (Gig area
Gt ﬁﬁi”l‘i I(E display () R 6

el information “display ¥ |-

length * breadth |
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OPTION - B
( Database Management System )
Paper : CSC—RC—2016/CSC—HG—2026 .

-

1. Flll in the blanks S | | C1x7=T7

A 9T S0 .8
| (a) RDBMS.stands for ____
' RDBMS-a___ ofefiRy T
(b) COUNT is a function in SQL.
SQL- COUNT a1 __ function.
© defines the property .of ‘an

i kentity.
' entlty <51 m define IR N

(d) '.DML stands for
" DML-4 aﬁﬁﬁtﬂfﬁl'

(e)

operator is used for select
operations in relational algebra.

Relatipnsl aigebra—? operator
(Bt select @fEraiT Te IR 9 |
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(i The identifies individual tup_les A
© uniquely.
9 7% tuple @Fa' G fr??nw‘i

A

() —The basic data retneval statement in
-SQL- is.

_W?EWWSQLEWMM%
P e 1

.2. Define the followmg‘ terms : . ‘2><4=8 |
(a) Candidate key: and'Supe‘r key
(b) Simple attribute and Composite
. attribute -
(¢ 'Data:independenee
(d) - Entlty integl,‘ity and  Referential
- irttegrity. ' ' ‘
3. ‘Answer any titr’ée questions : . 9%3=15

' (a) What is relatlonal algebra ? Expla.tn
any. two- operations of relational
algebra
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: Relatmnal algebra ﬁf? iﬂﬁ ﬁmmr ZEI .
W’l‘ﬁ% R 34 |

(b) Briefly explain the chara'cterlstlcs of .-
DBMS ‘ )

DBMS-3 hﬁw ST ARG A

(c) Briefly explain -the " three . DDL
commands with examples in SQL.

. BRIt SQL-F TS DDL command
2L T |

d Bneﬂy explain the DBMS architecture.
' DBMS- architecture 530® T #11

{e): How to convert ER diagraminto
~ relational table ? Give'the rules..

ER-diagram- +d9l GRS relational
table tawm 4l 7q? ﬁm%r femat |

4. .Answer any three of the following :

10x3=30
ﬁzar/m fofA5) e e ol ¢
(a) Explain the advantages and
disadvantages of DBMS. 5+5=10

. DBMS-T R4l W% SRRUIEE IR 4|
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(b) Cons1der the relational schema and " -
write SQL statements to perform the

" following tasks : . 2+2+2+2+2=10
& relation schema (3 CETRI i ﬁr*w -
I AR SQL B fort 2

WQRKER (WORKER__ID NAME,

SALARY; JOINING._ DATE
DEPARTMENT)

(i) _Dlsplay ‘worker ID .and joining

- date of Admin Department. - "

| Admin Department-3 worker ID: .

" 9% joining date AP I - '

(i) Display records in ascending
order .of salary. = °

-WWWWWWI

. (i) stplay records havmg sala.ry in
" the range 5000 to 9000 '

' 5000- %4 9000 ﬂﬁﬂw Vg aﬁsr
@G a3

(iv) Display the record. of persons
whose name ends with ‘a’.

. a’ammmm c

cmﬁﬁwvﬁﬂn
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©

()

.(v) Dlsplay the - récord of persons

. -whose hame start W1th s’

«s’amwmm :

. msf am‘-: =

'Wnte short notes on the followmg
: '5+5=10

ﬁmw ﬁww« 5 ﬁ«q f-‘m s
f) Primary key | '_
@) Forelsn key -
Consider the followmg relational .
schema : L 242424242=10

: W relational schema @t ot ¢

. EMPLOYEE (Eno, Ename, " Salary,
- . DOB, Dnum)’

DEPARTMENT (Dnum, Dnanw, Mgrno) '
' Write, SQL ‘statements . for' the_ |

following :
ﬁmvwwzm SQLﬁ%ﬁNt

(l) Dlsplay names . and date of birth -
of managers of all departments .
" 7Pl department<q ' NG AN

| . 'WWWWWI
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@) Display the names of all =
employees  with salary.< 9000.
9000 ©F W T ol m
I A e 1
- {iiij) Display the names of émployées
- working in each depaftment. L
- U(9F department T I I E{?i
| mﬁs@a R 2 7 |

(iv) Increase salary of every
employee by 10%- .
T TR TG 10% I <=0
(v) Display details of all employees
who born after 01.01.2000. '

01.01.2000 ¥ Fres wrerzdt w1 FRecet
OISR R |
(e) Explain the 1NF, 2NF, 3NF and BCNF
with examples in RDBMS
2+2+2+242=10

W‘ﬁ *® RDBMS-3 INF, 2NF, 3NF
W% BCNF i) 3 | ' '

- 3(Sem-2/CBCS) CSC HG 1/2/3,RC/G 14 | Contd. -



. () .Explain different types' of functional

: . dependencies with proper examples. A
Ty . Gnsd OIS | functional |

‘dependencies< feg APIFR A 4
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OPTION-C
(Introduction to vProgr;‘amming in C)
Paper : CSC-HG-2036 / TCA-HG / RC-2016'/ TIT-RC-2016
1. Answer . the - followmg quest;ons as
d1rected - 1x7= =7 '
oS fil e ﬁm:m‘r S B 5 |

'(a) ‘Which of the following is a vahd
1dent1ﬁer°

‘Wmh&mﬁm? R
(i) _Static
(i For -
(iii) Iynteger‘
i) Void
| | (Choose the correct optzon)_ ‘
(3% Reschr IR @7?/\92#)

| (b) .Length( ) is a hbrary function. ,
o  (State true or false)

Length( ) tﬂT,‘t hbrary function.
' (% 7 o5 f73)
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(o)

" (d)_'___

Assignment operators have higher.

. precedence than arithmetic operators.

~ (State true or false}

.A‘ssignment operator I ° precedence -

arithmetic’ operator e @RI
(o7 @ TS )

statéinent is used to terminate _
a.loop. : (Flll m the blank) '

" 9ot loop ™IF ﬁsﬁﬁzﬁl statement

"wmm. (1 312 95 =)

@

@

‘Static variables are initialized only

once. - (State true or false)

Statlc varlable @H“ él?n@ ﬁﬁf@?ﬁ W
73| . ‘ (5% 1 9T ﬁ'zfr)

- Two pomters cannot be multlphed

(State true or false)

ol pomter 539 IRT @RI .
(% @ oo )

function is used to move or .
change the position of the file pointer
to a specified offset. (Fll in the blank)

File pointer-3 SREW s st _

: funcﬁonwaﬁfiﬂwﬁﬁﬁ‘fwf |
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2.

®)
©
(d)

' 3. .Answer any three " of * the following

‘Define the followin_g terms : - .- 2%4=8

wﬁm

@

.Reserved word

Null statement
Scope of variable
Array :

questlons : Sx3=15

®)

-ﬁmﬁﬁﬁmwm
()

Explain dlfferent pnrmtlve data types
‘available in C.

C language-¥ znelﬁas data type @1« ?‘ﬁf

fat _
Differentiate between :

MR o ¢ |
@i Lvalue and Rvalue
~ (i) Break and Continue

(c)- What is 'sto.rage" class? List the |

features of different storage classes.

'Storage class e ﬁ%ﬁ storage class¥ -
- AR ﬁrem
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(d) Differentiate between functlon call by
‘ value and call by reference with
suitable example.

Function call by 'value % call by
reference AT @W‘T@ (&4 f?fznl

(e) erte a function to return the HCF of
two positive integers.

.zﬁw«rﬁ\w HCFW@WW .
e '

4. Answer any ‘three of t}ie 'follAOWing
questions : : - 10%x3=30
Rz fofbr =i Bed for ¢
(a) Briefly explain the followmg llbrary

functions : -

L) ﬁ’l‘l library functlon SIS8F b'?{ acfm

o '
) pow()

(i) sart()

(iij) abs()
(iv) fcIoSe( )
(v) fseek( )

‘(b) What is recursion and how does it
work ? Write a recursive function to

compute the factorial of a number. .
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Recursion & Wﬁ? RS TN TE? 0]
AT factorial @%IW aﬁw recurswe
Rz %r«’nl ‘

(é) Write a program to find roots of a,
quadratlc equation. .

aﬁﬁvwﬁﬁm«miﬁwm mm

(Gl

(d) Write a program to merge two sorted
arrays. )
wo! sorted array GHfqe ?Fﬁ?i?f-“f tﬂﬁf C&TETW
forat a |

(e). Write a program to. multlply two
matrices. -

95 matrix ‘maﬁataa%‘r el forai
'(f) Write short notes on :
= (Bt o< |
.‘(i) Relational and 'logical operators
© (i) Structure |
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